
Triangle

P0 =

 x0

y0
z0

P1 =

 x1

y1
z1

P2 =

 x2

y2
z2

 n̂ =

 nx

ny

nz



Equations

n̂ · (P − P0) = n̂ · P − n̂ · P0 = 0

(nxx+ nyy + nzz)− (nxx0 + nyy0 + nzz0) = 0

ax+ by + cz + d = 0

P =

 x
y
z

 =

 ex + rxt
ey + ryt
ez + rzt

E =

 ex
ey
ez

 r̂ =

 rx
ry
rz



Distance

t =
n̂ · (P0 − E)

n̂ · r̂
= −

(
d+ n̂ · E

n̂ · r̂

)
= −

(
d+ nxex + nyey + nzez
nxrx + nyry + nzrz

)

Interior

P = P0 + a (P1 − P0) + b (P2 − P0)

a ≥ 0, b ≥ 0, a+ b ≤ 1

w = P − P0, u = P1 − P0, v = P2 − P0

w = au+ bv

w · (u− (u · v̂) v̂) = (au+ bv) · (u− (u · v̂) v̂)
w · (u− (u · v̂) v̂) = au · (u− (u · v̂) v̂)

w · u− (u · v̂) (w · v̂) = a (u · u− (u · v̂) (u · v̂))
(w · u) (v · v)− (u · v) (w · v) = a ((u · u) (v · v)− (u · v) (u · v))

a =
(w · u) (v · v)− (u · v) (w · v)

(u · u) (v · v)− (u · v)2

b =
(w · v) (u · u)− (u · v) (w · u)

(u · u) (v · v)− (u · v)2


